
Yo
u

 m
ay

 c
u

t 
th

is
 h

o
m

e
w

o
rk

 p
ag

e 
o

u
t 

if
 y

o
u

 a
re

 n
o

t 
ta

ki
n

g 
yo

u
r 

b
o

o
kl

et
 h

o
m

e
 

1. What is 24 ÷ 660?  

Give your answer to three significant 

figures. 

(1 mark) 

 

 

 A: 0.036 

 B: 0.0363 

 C: 0.0364 

 D: 0.03 

2. Which of these options is the 

same as 4.5 km? 

(1 mark) 

 

 

 

 A: 0.045 m 

 B: 45 m 

 C: 4500 m 

 D: 45 000 m 

3. How many seconds are in three 

and half days? 

(1 mark) 

 

 

 

 A: 302 400 s 

 B: 10 080 s 

 C: 5040 s 

 D: 210 s 

4. The markings shown on the ruler below are in centimetre (cm) increments. 

State the length of the pencil in metres to two significant figures. 

(2 marks) 

 

Pencil length = ………………… m 

 

5. (a) What was the speed of a van that travelled 74 metres in a time of 12 seconds? Give your answer to three 

significant figures 

(2 marks) 

 

 

 

Speed of van = ………………… m/s 

 

(b)  A car on the motorway is moving at a constant speed of 31 m/s for 5 minutes. How far does this car travel 

in that time? Give your answer to the nearest whole kilometre. 

(3 marks) 

 

 

 

 

Distance = ………………… km 
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